Construction division. Advice for giving credit to contractors/suppliers.

| Sl. No. – site bills register | 58 | 200.00 | te - site b gister | ills | 06-1 | 7-22 |
|----------------------------------|----------------|--------------|--|--|----------|------------------------|
| Company Name: | MRPL | - | No. of Concession, Name of Street, or other Desires, Name of Street, Name of S | | Nº | 76 |
| Name of Contractor | | hoskon | Gran | 90_ | / / ~ | |
| Nature of work | | CIVIL | Diace | | | |
| Work done | From Date | 10-6- | 22 T | o Date | 13- | 07-22 |
| Sl. Villa/Flat/block no | Qty. | Rate | Units | Amou | | Contractors bill no |
| 1. Chircose -I | 525 | 131- | 17+ | 6,83 | 25/- | |
| 2. Clarical D | 650 | 13F | 172 | 8,45 | 5/ | |
| 3. Claircost-) | | 13/ | 524 | 9,3 | 6 L | |
| 4. Pelaningune 9 | | 16/- | 13/4 | 11,2 | co L | |
| - Headow brid | | 13/- | 1/4 | A CONTRACTOR OF THE PARTY OF TH | 14/- | |
| 6. | 187 | 134 | 121 | 24: | 1/ | |
| 7. Headoour | 374 | 16/- | 187 | 5,98 | 34/- | |
| 8. Philtening. | 156 | 16/- | 37+ | 18.4 | 1961 | |
| 9. | | | 200 | | / | |
| 10. | | | | _/ | , | |
| | otal: | - | | 70,3 | | |
| Bill required | TYES INO. | | bill requir | USE I | YES | HO. |
| Measurement & estimate sheet: | Required | | surement à | | Enclos | 100 miles |
| PO/WO no. | □ Not required | E 1000 | WO date: | L | Not en | closed |
| | 1. 0. 5 | Photec | or service and the service and | | _ | |
| Remarks: Wo? | sk com | Phoee | | - | 2 | |
| | | | | | | |
| | | | | | | |
| Approved by Project Man | ager Appro | oved by Desi | gn Team | Appro | ved by ! | M.D. |
| Date: 9/7/22 | - Date: | | | Date: | | |
| Sign: | Sign: | | | Sign: | | |

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline raises are clearly given.

Bill for Labour Charges

Bhaskar Ganga, Addres: Dera sahi Kashi nagar,Gajapati Odisha

Date:06.07.2022

In favor of:

Nilgiri Heights

Project / Site:

Nilgiri Heights

Location:

Pocharam

Type of Work:

Civil work

Towards:

Allowance for Labour Charges

| S No. | Description | Amount |
|-------|--|------------|
| 1. | Brief description of work done:Towards completion of Brick work and plastering work | |
| | Total Amount =70260/- | Rs.28104/- |
| | Work done from date 10-6-22 to date: 03-07-2022 | |

Amount in words: Twenty Eight thousand One hundred and four rupees only.

| Sign: | |
|-------|--|
| | |

Bill for Equipment Charges

Bhaskar Ganga, Addres: Dera sahi Kashi nagar,Gajapati Odisha

Date:06.07.2022

In favor of:

Nilgiri Heights

Project / Site:

Nilgiri Heights

Location:

Pocharam

Type of Work:

Civil work

Towards:

Allowance for Equipment Charges

| S No. | Description | Amount |
|-------|--|------------|
| 1. | Brief description of work done:Towards completion of Brick work and plastering work | Rs.28104/- |
| | Total Amount =70260/- | |
| | Work done from date 10-6-22 to date: 03-07-2022 | |

Amount in words: Twenty Eight thousand One hundred and four rupees only.

| Sign: | | | |
|-------|---|--|---|
| Sign. | _ | | _ |

Bill for Consumable Charges

Bhaskar Ganga, Addres: Dera sahi Kashi nagar, Gajapati Odisha

Date:06.07.2022

In favor of: Project / Site: Nilgiri Heights Nilgiri Heights Pocharam

Location:

Type of Work:

Civil work

Towards:

Allowance for Labour Charges

| S No. | Description | Amount |
|-------|---|------------|
| 1. | Brief description of work done: Towards completion of Brick work and plastering work | Rs.14052/- |
| | Total Amount =70260/- | KS.140322- |
| | Work done from date 10-6-22 to date: 03-07-2022 | |

Amount in words: Fourteen thousand fifty two rupees only.

| Sign: | | | | |
|--------|---|--|--|--|
| Digit. | _ | | | |

| (s) | | 44 | 9 | 12 | | (#) | S No | | | | | T | | |
|-------------------------------------|----------|---------------------------------|---|-----------------------------|----------|----------------------------|------------------|------------|--------------|---------------|-------------------|-----------------|------------------------|---|
| Head room plastering | | Head room brick work | Retaining wall Plastering | Staircas-II room brick work | | Staircas-I room beick work | Item Head | Date | Prepared By: | Contractor: | Work Description: | Project | Company Name: | MEASUREMENT SHEET |
| New office head room platering work | | New office head room brick work | Retaining wall plastering at north west curve | Stagens-II room brick work | | Staircas-I room brick work | Item Description | 06-07-2022 | AniiM | Bhaskar Ganga | Civil work | Nilgiri Heights | MRPLLP | T |
| 11.0 | 0.11 | 34.0 | 35.0 | 36.0 | 50.0 | 50.0 | Length Width | | | | | | | |
| 1.0 | 1.0 | 1,0 | 0.1 | 10 | 1.0 | 1.0 | Width | | | | | | | |
| 17,0 | 17.0 | 17.0 | 20.0 | 10,0 | 13.0 | 10.5 | Height | | | | | | Approve | |
| 2.0 | 1.0 | 1.0 | 1.0 | 2.0 | 0.1 | 1,0 | No. | | | | | | Approved by: Vijay raj | 100000000000000000000000000000000000000 |
| 374.0 Sn | 187.0 SB | 578.0.50 | 700.0 88 | 720.0 80 | 050.0 Sn | 525,0 SR | Quantity | | | | | | sy raj | |
| ns | SB | Sin | 88 | 8 | Sn | Sn | Units | | | | Į, | Ī | | ij |
| | | | | | | | Item Head Total | | | | | | | |

| 70,260.00 | Total amount: | | | | | | |
|-----------------|---------------|--------|-------------------------|----------|---|--|-------|
| | 18,496.00 | 16.00 | Sft | 1156,0 | | | |
| 1000 | 5,984.00 | 16.00 | SR | 374.0 | New office head room plstering work | Head room plastering | 3 |
| | 2431.0 | 13.00 | SA | 187.0 | | | |
| | 7514.0 | 13,00 | Sñ | 578.0 | New office head room brick work | Head room brick work | 4 |
| | 11,200.00 | 16.00 | sn | 700.0 | Retainig wall plastering at north west curve shape | Retaining wall Plastering | Stat |
| | 9,360.00 | 13.00 | ns. | 720.0 | Staircas-II room brick work Staircas-II room brick work | Staircas-II room brick work | 2 |
| | 8,450.00 | 13.00 | 3ft | 650.0 | | | |
| | 6,825.00 | 13.00 | NS. | 525.0 | Staireas-I room brick work | Staircas-I room brick work. Staircas-I room brick work | - |
| Item Head Total | Amount | Rate | Units | Quantity | Item Description | Item Head | S No. |
| | | | | | 06-07-2022 | Date: | |
| | | | | | AnilM | Prepared By: | |
| | | | | | Bhaskar Ganga | Contractor | |
| | | | | | Civil work | stion: | |
| | | | The same of the same of | 10000000 | Nilgiri Heights | | |
| | 14 | ау гај | Approved by: Vijay raj | Approv | MRPLLP | | |
| | | | | | | ESTIMATE SHEET | |

